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1. Use special triangles and related first quadrant (acute) angles to evaluate each of the following. In addition, use the

provided grid to show the angle of rotation along with the related acute angle. DO NOT USE A CALCULATOR
UNLESS YOU WOULD LIKE A MARK OF ZERO! (16 KU)
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2. Solve for €. In each case, 0<8<360°. DONOT USE A CALCULATOR FOR PART (a)! (8 KU)
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. Explain why each of the following statements is true. Use diagrams to illustrate your answer. (6 TIPS)
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4. ﬁ"ﬁe fGﬂb’ng isa saﬁp&f%i&dumbas& a mathematics student who pays Iitt!e attent.ion to Mr. Nolﬁ.

Instead, he turns on the mental “auto-pilot” and manipulates symbols without understanding their meaning. Explain what
is wrong with this student’s work. (4 COM)
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If cos@ = ol and 0<@<360°, evaluate sin@ and tan@. DO NOT USE A CALCULATOR!! (Hint: Draw a dlagram
and apply the Pythagorean Theorem.) (4 TIPS) . ’, :2: / 6‘4"&5 = / [ q
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